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Full Marks: 100

Answer Question Nos. 1, which is compulsory and any five gquestions from the rest,

{a) Answer the following:

)

(ii)

(iii)

(iv)

(v)

A profit on sale of furniture of a club will be taken to
(A) Cash account

(B) Receipt & Payment Account

(C) Income & Expenditure Account

(D) Profit & Loss Account

When interest on own debentures becomes due it will be credited to
{A) Profit & Loss Account

(B) Own Debentures Account

(C) Debentures Interest Account

{D) Interest on own Debentures Account

Profit prior to incorporation is transferred to
{A) General Reserve

(B) Capital Reserve

(C) Profit & Loss Account

(D} Development Reserve

Under instalment system of purchase, interest suspense account is debited with
(A) The difference between instalment price and cash price

{B) Amount of interest included in each instalment

(C) Instalment price and discounted cash price

(D) Difference between Cash Price and Depreciated Value

Free Reserves include
(A) Securities Premium
{B) Revaluation Reserve
(C) Capital Reserve

(D} All of the above

1x5=5
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(b) Match the following: 1xd4=4
(i) AS20 {A) Construction Contract
(i) AS 13 (B) Net Profit or Loss for the period,
prior period items & change in
accounting Policies
(iii) AS7 (C) Earning Per Share (EPS)
{iv) ASS (D) Accounting for Investment
(c) Indicate the Correct Answer : 1

Saturn & Neptune are partners sharing profits in the ratio 5 : 3, they admit Jupitor giving him 3/10th share of
profit. If Jupitor acquires 1/5th share from Saturn 1/10th share from Neptune, new profit sharing ratio will be:

(i) 5:6:3
(ii) 2:4:6
(iii) 18:24:38
(iv) 17:11:12
(d) Fill in the blanks: 1x7=7
(i) A company cannot redeem preference shares unless they are paid up.
(i) Unclaimed dividend is shown under head in the Balance Sheet of a banking company.
(111) Tax deducted at source, from interest on investment is shown under in Schedule VI
(iv) Selling Commission is apportioned among departments in the ratio of of each
department.
(v) By products should be valued as lower of cost and net value.

(vi) When minimum rent is more than Royalty the amount payable to landlord is the

(vii) Where hire vendor reckons the profit on the basis of instalments received, the method is known as

(e) What are the various activities classified as per AS 3 (Revised ) related to Cash Flow Statement? 3
(f) What are the rates of interest in respect of the following 1

{i) Calls in advance
(ii) Calls in arrear

(g) State any four purposes for which the Securities Premium Account balance may be applied by a company. 4

2. (a) CESC Ld. laid down a main at a cost of Rs. 25,00,000. Some years later, the company laid down an auxiliary
main for one-fifth of the length of the old main at a cost of Rs. 7,50,000. At the same time, it also replaced the rest
of the length of the old main at a cost of Rs. 30,00,000 using in addition the materials of the old main amounting
to Rs. 50,000, The cost of materials and labour having gone up by 15%. Sale of old materials realized Rs. 40,000.
Materials of the old main valued at Rs. 25,000 were used in the construction of the auxiliary main.

Give journal entries for recording the above transactions and also draw up the Replacement Afc. 11

(b) As per AS-14 what are the conditions to be fulfilled in case of Amalgamation in the nature of merger? 4
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3. (a) Varun sells goods on hire purchase basis also. He fixes hire purchase price by adding 50% to the cost of goods
sold. The following are the figures relating to his hire purchase business for the year 2009-2010.

Rs.
Balance of Hire Purchase Stock Account as on 1st April, 2009 84,000
Balance of Hire Purchase Debtors Account as on 1st April, 2009 2,100
Selling Price of goods sold on hire purchase basis during the year 6,34,200
Cash received from customers during the year 6,46,800
Total amount of installments that fell due during the year 6,48,900

One customer to whom goods had been sold for Rs. 8,400 paid only 5 instalments of Rs. 700 each. On his

failure to pay the monthly instalment of Rs. 700 due on 4th March, 2010 the goods were repossessed on 27th
March, 2010 after due legal nofice.

Prepare ledger accounts on Stock and Debtors Systems for the year ended 3 1st March, 2000. 10

{b) From the following information prepare
(i) Fixed Assets Account and
(i} Accumulated Depreciation Account:

Opening Balance | Closing Balance
(Rs.) (Rs.)
Fixed Assets 4,00,000 5,50,000
Accumulated Depreciation 80,000 1,35,000

Additional information:

A part of a machine costing Rs. 60,000 has been sold for Rs. 30,000, on which accumulated depreciation was
Rs. 15,000. 3

4. X &Y share profit & loss in the ratio of 5:3. They admit Z with 1/5th share of profits. He pays Rs. 80,000 as capital
but does not contribute anything towards goodwill which is valued at Rs. 60,000. The capitals of the Partners are
fixed. All adjustments are to be made through partners’ current accounts. Their balance sheet as on March 31, 2010

is as follows:
Balance Sheet
as on 31-03-10
Liabilities Amount Assets Amount
Hs, Rs.
Capital: Plant and Machinery 50,000
P 80,000 Investments 31,000
Y— 60,000 1,40,000 Sundry Debtors 60,000
Current account: Stock and Trade 90,000
X— 5,000 Bank 30,000
Y— 6,000 11,000
General Reserve 60,000
Sundry Creditors 50,000
2,61,000 2,61,000

Please Turn Over



CAT=-5{FAC) (4)
Syllabus 2008

5 (@
(b)
(c)
6. (a)

Additional Information:
(1) Plant and Machinery is valued at Rs. 46,000 and stock at Rs. 96,000.
(ii) One Creditor for Rs. 6,000 is dead and nothing is likely to be paid on this account.

(1i1) The Capital accounts are to be proportionately adjusted on the basis of Z's capital and his share of profit,
through Current accounts

{iv) Partners decide to maintain the General Reserve in the books of the firm.
Prepare Revaluation account, Bank account, Capital and Current accounts and Balance sheet of the new firm.

15

Fill up the Blanks : 5

(i) As per AS-6 when there is a change in the method of providing depreciation, the differential amount of
depreciation would have effect.

(ii) As per AS-6 when there is a change in the estimated useful life of the asset the, differential would be
calculated

(iii) Profit.on revaluation of assets on the admission of a new partner is to be credited to the old partners in
their profit sharing ratio.

(iv) Amalgamation Adjustments Account is opened in the books of the transferee company to incorporate

(vl When a new partner enters in the partnership firm and the partners decide to maintain the General Reserve
in the books of the firm at its original value, the amount of general reserve is ' to the
old partners and to all partners.

State whether the following statements are “True” or “False™: 5
(i) A change in the accounting policy should be made when the statute so requires.

(i) In consignment sales, revenue should be recognised only the goods are sold to third party.

(iii) As per AS-10 when a fixed asset is revalued, other assets should not be revalued.

(iv) Qutstanding rent, if shown in the Trial Balance, it would appear in the debit side of the trial balance.

(v) Bonus shares can be issued out of Capital Redemption Reserve even before the redemption of Preference
Shares.

Correct the following Statements: 5

(i} Under section 37 of the Partnership Act, the executers of the deceased partner would be entitled at their
choice to interest at 6% p.a. on the amount due from the date of death to the date of payment or to his
share of profit before death.

(ii) In the case of Banking Companies if the one account of the customer (the customer having more than one
account with the same bank) with the bank becomes non-performing the other accounts of the same
customer do not become non-performing.

(iii) Depreciation Accounting is the process of valuation of the asset and not the process of allocation.

{iv) As per AS-19 in Finance Lease depreciation on the leased asset is allowed to the lessor as he is the owner
of the asset.

{v) In the Profit and Loss Account of a Banking Company Provisions and Contingencies are shown in
Schedule 17.

Adarsh Lid., was formed with an authorized capital of Rs. 30,00,000 divided into equity shares of Rs. 10/-

each. The company invited applications for 2,00,000 equity shares of Rs. 10/- each at a premium of 20%. The
money was payable as follows:

On application Rs. 5/-, on allotment Rs. 4/- (including premium of Rs. 2/-), Rs. 2/- on first call and rest on the
final call.
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Applications were received for 2,40,000 shares and allotment was made as under:
(a) To applicants for 1,00,000 shares in full;

(b) To applicants for 80,000 shares—60,000 shares were allotted;

(¢) To the applicants for 60,000 shares, the rest of the shares were allotted.

Applicants for 1,000 shares in the (a) category and applicants for 1,200 shares falling in categoty (b) failed to
pay the allotment monies. These shares were forfeited on their failure to pay the first call. Holders of 1,200
shares in category (c) failed to pay the first and final call and these shares were also forfeited after the final call.
Of the shares forfeited 1,300 shares were re-issued @ of Rs. 8/- per share as fully paid up. The re-issued shared
included 1,000 shares of category (a).

Journalise the above transactions and also show the Cash Book. 10

(b) Give the proforma entries of Cash Flow Statement as per AS-3 5

A contractor whose books are closed on 3 1st December undertook a contract for construction of building on 1.4.2009.
His books of accounts reveal the following information on 31.12.2009:

Materials sent to site Rs. 2,92,000, labour engaged Rs.7,08,000, Foreman’s salary Rs. 87,500. During the year plant
costing Rs. 3,50,000 was installed at site for 150 days, scarp value being Rs. 20,000. (estimated life 5 years)

Supervisor's salary Rs. 5,000 per month (he devotes approximately 2/3rd of his time to this work). Administration
expenses amounted to Rs. 1,60,000. Materials at site on 31.12.2009 was valued at Rs. 30,200. Unsuitable materials
costing Rs. 7,200 was sold for Rs. 6,000. A part of the plant costing Rs. 8,400 found unsuitable to the contract was
sold at a profit of Rs. 1,600 without being put to use.

The contract price was Rs. 25,00,000. On 31.12.2009 2/3rd of the contract was complete. Architect’s certificate
covered 50% of the contract value. Amount received on account by the contractor is Rs. 8,75,000. Depreciation is
charged on time basis.

Prepare the Contract Account and state how much profit should be credited to the Profit and Loss Account. 15
Write Short Notes on: 5x3=15
(a) Capital Adequacy Ratio;

(b) Capital Redemption Reserve;
(¢) Cum-interest and ex-interest price.
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Time Allowed: 3 Hours Full Marks: 100
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Answer Question No. 1 which is compulsory and any five from the rest.

In case of any discrepancy, examinees are advised 1o follow the English version.

1. (a) = = e ifad . 1X5=5

(i) U FoT6 g FATa ) fashl | gom ey
(1) Iz Em |
(=) Wi &R e @
(9) 3mg oiR =g @ |
(8) = it ot =@ o

(ii) TG & FO9E1 W 2 == 59 o s .
(31) o 3 aifs @m o
(4) =d H=ovE wmw i
(8) F9a =9 @19 #
(%) @4 % FHUH W = @ o

(iii) FHIEH | Td T TG o o §
() WWg §9g E
(%) qsit ¥=9 @m o
(®) wmv-wf7 @a 4§
() fawmm fndt @ 1

(iv) fore o v & srorio woafe v =00 e w9 Am R S el of e &
(#) e o9 9 792 qed 71 =1
(F) == =it =5 e < v faea o wfmfoq &
(7) fom o9 9 femrfes 97 geg w1 o=
(3) e qed 9 wied e 91 37w

(v) 794 d@99 ° wfmfem ww #
(=1) wfyfa Wifaem
(F) TcgisT 529
(®) gsivm d99
(=) I9g=k |t
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(b) Wel fuem Fifsma: Ix4=4
(i) AS20 (A) Fmioft sga=y
(ii) AS 13 (B) T ¥afy % fer fraer o o @i, amfy

A gd # 7 3R e fogr § wiads
(iii) AS7 (C) wia ¥9 g
(iv) AS5 (D) feAram =1 srEiss

(c) wel I fafau . I

e ol Ao R SR em-af A s ;3% s =i g, S = 3/10 feed & foru wEer = m ¥
afe e 1/5 fewm Fet & qem 1/10 femm =g § W R & A T T T B

(i) 5:6:3

(i) 2:4:6

(iii) 18:24:38

(iv) 17:11:12

(d) T s vfiy . 1%7=7
(i) TF FrE! gEifusr oill =1 i 99 o 7 W wedt wa aw o &9 7 8 W |
(i) TH ﬁﬁmmﬂ;ﬁ@ﬁmﬁa(unclaimm}mﬁ@ﬁ i & srafa
fearar s %1

(i) T T e T o Fafrndt s sgie vid seEr vitdes # femman s £
(iv) fafu= faumit 4§ fasrg Fdem & Srqara # aier wa #1

(v) W IR F YA @ i g oo g H | S ot 9 & 3ER e s aifd
(vi) W& =4 o -anh ) e 5w @ G st arsa Eahd

(v;i;mﬁwmwﬁs#mmm%mmﬁqmm%ﬁmmﬁm%

|
(e) TREFA WHY 3 (HNo) & SIUR Aohs v foaor & st Fafr=t frard (activities) F-H1 §2 3

(h Fefefer Fray fam R aa I
(i) % W ar=mn v
(i) 7ed 9=

(e) wfaifar siifirrm @ % 9 o for-2 Ie2vt & fere vt foren s 2 4

(a) HIETFET fede 7 UF 99 25,00,000 To H A o TR ot | Fo ul v FA A @R B F 15 um
% WA 7,50,000 To F weraE ¥ (auxiliary main) TEEE 7o Y A 9 W B ot geas B
3ﬂ,m.maioﬁmaammmﬁaasumﬂ&aﬂamnﬁaa%mﬁhﬁwgaaglmmanﬁ&aﬁ
T 15% 9% Tt ¥ 1 WA WA F 399K 40,000 To ST §Y TU1 25,000 Fo T [HT 7 H1 WHH TEHF 77
H s fomar )

maam%aﬁaﬂ@%mmmnmﬁm| 11
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(b) TYEF WA 14 F ST=ia 39 9l 1 7w W foF TR R WH F GAREE (amalgamation in the nature of
merger) ¥ g =t S =l 4

3. () S€ -y vgfi gra o A A9 ¥ 98 W F e 1 509% w1 e fa e fuifa e )
2009-10 F1 =il o & SuR T RIF-39RR TS 4 SEves e 9 | wrEie ad 31 ard &) 6

TR Fo
& #a =1F (01.04.2009) 84,000
T 4 SRR (01.04.2009) 2,100
=4 ¥ frr 71 WA 9w 6,34,200
=i T ureH A wa % 6,46,800
= 1 e 37 et 6,48,900
U TTee ST 161 8,400 o H <=/ 741 o1 I8 Fae 700 %o arelt 5 fred gt ¥ 197 4, 2010 %) 780 3 MR
= A Yo 27 F IWA 27.03.2010 A WS W YH: Fe e 10
(b) =1 gesdi | (i) et wefa @ @i i) 994t 7 | e 5
wfis ¥y | sifem g
(Te) (Te)
TR Ty 4,00,000 | 5,50,000
Tt 7| 80,000 1,35,000
AR T

60,000 o Fi TIFTG aTel T &1 T 901, 99 T 15,000 $o @4 T4 91, 30,000 o T 3= fogr M

4. X ¥R Y uwm w1 wriier E 9 S 3% e F w Ay 1123 et § 1/5 v ¥ my o F wien F ey i
e e 1 S 80,000 %o Ysft % T 7 T forrg @y Foreram Wit 60,000 o foran 1, & fordt 5o ot =) =
TrErErl g T & w e =] e an i e e #

31 974, 2010 i T il foeer 59 v §:

31.03.2010
afd= fag
< &H oy &
To Fo

Yt : = T 50,000
X 80,000 fafdm 31,000
Y 60,000 1,40,000 | fafay 29=r 60,000
SR GIREGIE I & 90,000
X 5,000 T By H 30,000
Y 6,000 11,000
HHE 999 60,000
fafay T=r 50,000

2,61,000 2,61,000
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sfaftEa g=ar:

(i) mawﬂ?ﬂﬁ,ﬂmaomamgﬁmﬂ&m}{aﬁmﬁmwm

(ii) 6.000 Fo ¥ TF TIER 3w § iR 395 forw Fo ot yram = forn < 2

(iii) B wEEr % S @ Z 6 Ol & SR W wariiea 0 ¥ e gudee = e d w5 #)
(iv) v IEER WS 9 1 EE Qe § o v = €

7 W JTediEa @, e @, e s ), =] gei e g sfds faee s 15
(a) T =M vt 1%5=5
(i) TTEiA YA 6 % STTER 4fe T" oA %t vgfa o vied fem o & aw 9 of = s
<@ W R
(i) TrEi=A W99 6 % 1gaR, afe weafd & srymfa svEnt siem # afted= fomr s & e 51 ofn v
—  FfErwam
(iii) T T UERR % 799 W g F (i WeaM A TRk F @R i % 3FUe
7 w5t feen e %4
(iv) T FP91 1 Qo § TR GYEeA @ HEer & ferg wien s g
(v) ¥4 & 79 HEeR weei w1 udw e §, iR oRen e 5 e | g 69 9 59 anatas
T REIH T Faid TSR EE TSl sen g Fwmw g ek
gt wrdedl % @ | S if
(b) =arzd fa Frefefas wwm v & w1 s 5

(i) 5& faum g/ savas € @ v At § el = =i

(it) Saor fersht 9, <& W et 9w = 39 T e @ 9t faeen wen s =nfew

(iii) TTEIF WA 10 F TTHR, 4 T I goia 1 Toeais o s €, 638 Soft 9 o= wfit
1 GediaA el faa s e

(iv) #ed Tertrn 4fe aerve 3 fommn s @ 97 qer9e & 9w vg § feam s

(v) =8 9 qaifaesr A % e § g gsit e geg @ Foifie el e #)

() Trefafas =9 & wd =@ 5

(i) WTERET SR = ¥ 37 % HTER Ja WEER F S F 36 3991 W g Fi fafd § Jam #
fafy o= 33 ufe W 6% wfoad 1 U/ =19 99 = W 9 @ Teel & o w0 feemn v = arfee dm

(iiy e et i g d, afe 9= & mew = w un (UE S @ 9 0 A ofus an ¥)) fife
(FrA-remfH) & e & & 36 aeE F o wn s @ s

(iii) T8 Sr@iw gofs vl wfE F qeaie # ofEa €7 fF we are B seS v stem we §
T = |

(iv) TrEiwT JoT 17 % SF7aR, fawita 122 & vier = uofa & @t & w9 8§ @ wd w goufa waw s
= AR )

(v) e Feaft § gy 3 wEvE oyl 1749 e om #)
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6. (a) ¥y fafigzg 1070 w19 < w19 # fawer 30,00,000%e = s it & ey vt g w209

8.

s W10 To Wfa 319 3 2,00,000 e W RS @nifyE fe

W T W ge
HEAEA W 5 To
T 0 4%o (2 %o ifimm wiew)
HYY F=41 91 2 o
Y afm W

2,40,000 379 % feTq 27a<A W 8Y 3R 791 W afeeA fan T -
(31) 1,00,000 379t & et =i quf e fara T

(=) 80,000 39 F AETH = 60,000 39 1 2= foFrm T
(|} 60,000 39 & AESH +1 W9 9 eifed == fed ™

' AR % 1,000 ¥l F e 3K = Aoft % 1,200 379 F ST e TR T AP T F ATHA T 1
HY 1 YW A PR A R T e T

"w A 1,200 3 % T wuw o AR A AR w0 STl @ iR 39 ofet @ ot i A
& @ T T feran A | s Rl T 1,300 3 %1 8 %o Wfaatw quign yafittes foran war, g s
=" gt % 1,000 3w wiEE ¥

Sl SrEErl F s wfafe Sif 3 dee g o fram 10
(b) @i WY 3 F AR T W% faawm 1 wrey S 5

T FER F 01.04.2009 F v Frafor = S form |
T T 7 31 e Ft v 3 ¥ vee e e geed v w5

TR Fee 90 2,92,000 %o, 9 7,08,000 Fo, BT T A 87,500 Fo, TR W 150 frfl & fore wam
i 3R T 3,50,000 Fo (SR Siart e —5 @) (a9 qe 20,000 Fo ) HIETTSH F1 36 5,000 Fo
AfTHTE (FE 797 T 2/3 WIS FE WS o) | S0t 5 1,60,000 o, 31.12.2000 F wH G G
30,200%e, 7,200 To TN i WHER 3 & fo1C Sag oft, 30 A=1-6,000 Fo ¥ | wi1ve & T arqegaa W fra=
TN 8,400 To Ml 1,600 Fo & TN T 3N 7741 T8 @IV & 9T FH T T 0T T 91

1 T4 25,00,000 Fo ©1131.12.2009 1 3% Hd &1 2/3 I T g, ez 3 3% e F 50% Wi foran
8,75.000 To Fi ufe T T JFER F Fon | W wEY SR 9w S R
U oF @ 9 iR fruifia S f 31.12.2000 F1 fa e ety @) e e o iR 15

fr=fafas w femvit fafas . 5x3=15
(i) geit wEfEET S

(i) g=it W H@=;

(iii) = wied wd = e geai




